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54BCE - The Second Raid

KA
% One year after his failed invasion of Britain,
2 Julius Caesar came back across the sea. This
time he brought with him five legions and
2,000 cavalrymen.

The Roman army fought in South East
England and this time got to the other side
of the River Thames.

The British tribes agreed to pay tributes to
Rome and were left in peace. Caesar did not
think Britain was worth a long war and he
had other problems in the Empire to deal
with. The Celts opened up trading links with
the Romans.

Cavalrymen — Soldiers on horseback.
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< Give two reasons why Caesar left Britain after invading it.
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\ / What river did the Romans manage to cross this time?
mlﬁ\ What did the Celts do after Caesar headed back to Rome?
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\\ / Why do you think Caesar came to invade again after failing the
~ first time?
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/ ¢ Why has the author included an explanation of the word

‘cavalrymen’?
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Add ‘ing’ and ‘ed’ to each of the |8
words below SpellingiShed)
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Tick one box in each row to show if the underlined conjunction is a subordinating conjunction
or a co-ordinating conjunction.

garden
limit
develop
listen
cover

Subordinating Co-ordinating

Sentence - . . -
conjunction conjunction

| like ice-skating and roller-skating.

Jamie likes roller-skating, but he
has never tried ice-skating.

Jamie will go ice-skating if | go with
him.

Circle the possessive pronoun in the sentence below.

The boy who knocked on ocur door was at the wrong house.

Label each of the words below as either a verb or a noun.
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The lion approached silently as the zebra rested in the grass.



